Which expression can be used to find the values of s(n) in the table below?
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Which answer would you pick? Scroll down to see the correct answer and why the other answer

choices are incorrect.
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Which expression can be used to find the values of s(n) in the table below?
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y-intercept would be 2.
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Which expression can be used to find the values of s(n) in the table below?
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Which expression can be used to find the values of s(n) in the table below?
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The squares below show a pattern. Stags 1 oog
Which expression can be used to determine stage 2 Oooooo
the number of squares at stage n?
Staged OoooOoooooobooao
F 5n-3
G 4n-2 =4 | 000000000 00000O0OO0OOCO
H 2n?
J n’+n
See the table for the values:
Stage, n Number of Squares
1 2
2 6
3 12
4 20

Which answer would you pick? Scroll down to see the correct answer and why the other answer
choices are incorrect.
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Which expression can be used to determine th% number of squares at stage n?
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Which expression can be used to determine th% number of squares at stage n?
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